
                                               

Question Bank 

Grade: 5 

Subject: Mathematics 

Chapter 3: Addition and Subtraction  

1. Add  

 

2. Subtract 

 

3. Choose the correct answers.  

A)  The sum of 22, 610 + 10,010 is:  

a. 23, 620           b. 23, 020         c. 32,620           d. 32, 270  

B) 79, 218 + 11,782 =  

 a. 91,110           b. 90, 110        c. 90,100           d. 91,000  

C) Subtracting 21,865 from 91, 995 we get:  

a. 70, 130           b. 71, 230        c. 80, 130         d. 71,130  



D) 1,00,000 – 52, 799 is:  

a. 46,200           b. 46,201           c. 47,201         d. 47,200 

4. Solve 

A) I want to buy a laptop costing Rs. 43,799. I have Rs. 27, 659 with me, how much 

more money do I need to buy the laptop?  

B) Hetal has Rs. 34,289 in a bank account. Her monthly salary of Rs. 40,100 is credited 

to that account on the first day of a month. How much amount is there in her account on 

the first day?  

C) Consider two numbers that are between 30,000 and 40,000. One number is got by 

adding six thousand, eight hundred, seventy-eight to 30,000 and the other number is got 

by subtracting two thousand, five hundred, sixty-seven from 40,000. Find the numbers 

and add them. Subtract the smaller number from the bigger number. 


